Economics 103

Lecture # 6

More on Demand

Elasticity
· Let’s consider the demand for a good X in its functional form.
· Own Price Elasticity

                  -this is the most important for us.
Exx > -1   means elasticity is inelastic.

Exx < -1   means elasticity is elastic.

Exx = -1   means elasticity is unit elastic.

Many often drop the minus sign since the own price elasticity is always negative.
Exx > 1   means elasticity is elastic.

Exx < 1   means elasticity is inelastic.

Exx = 1   means elasticity is unit elastic.
· Technical digression: Arc vs. Point Elasticity.

        - exactly the same issue as MV.

        - if ÄP is a discrete number, then we have what is called 

             an ARC elasticity. 

       - if ÄP is infinitely small, then we have a POINT elasticity.

An Arc elasticity is an “average” elasticity, and as such has a natural ambiguity.

Again, we’ll use whatever is easiest in a given context.

· Elasticity and slope.

  - you’ll want to treat the slope of the demand curve as the same as elasticity … 

                                       don’t.

- Four cases:
· If cookie monster spends all of his money on cookies, what is his elasticity of demand?

Let M=$100

Pc = $5.

Therefore he buys 20 cookies. 

Pc = $10, he buys 10 cookies.

ÄP = 5, ÄQ = 10.  Ave P = 7.5, Ave Q = 15.

Exx = 10/5 x 7.5/15 = 1. 

Cookie monster’s demand for cookies is unit elastic.

What if CM doesn’t spend all his income on cookies, but must eat 20 cookies/day?

                                                               then demand is inelastic.
· What is the most intuitive way to think about elasticity?

     - few substitutes  + small share of budget

                  … inelastic

     - many substitutes + large share of budget

                  … elastic.
· Graphical trick for Own Price elasticity:
· Where is the larger elasticity, point C or D?
· Total Revenue and Elasticity.

 Consider the following demand curve:

     Price:  10      9       8      7      6      5      4      3      2      1  

Quantity:   0      1       2       3      4      5      6      7     8      9

Total

Revenue:   0      9      16     21    24    25    24    21    16    9

Elasticity:  inf   9      4      2.3    1.5   1      .67   3/7    .25   1/9

What is the relationship between E and TR?

· Let’s Graph this:
· What would the revenue curve look like if the demand curve was

· Flat?

· Vertical?
Other Elasticities 

1. Cross Price Elasticity
If Exy > 0 then the goods are substitutes

If Exy <0 the goods are complements 

If Exy = 0 the goods are unrelated.
2. Income Elasticity

If Exm > 0 then the goods are normal

If Exm <0 the goods are inferior 

From a theoretical point of view, Exy and Exm are not that interesting. 

However, they are sometimes empirically interesting.

· vanity plates Exx ~  -1.3,  Exm ~ .6

· Abortions  Exx ~ -1,  Exm ~ .5

· After 9/11 airport shoeshine business increased

                   security and shining complements

· Higher incomes … we don’t borrow books anymore

                  - no mobile library, amazon, chapters.

· Amazon forests substitutes for BC forests.

                    - “stop logging the Clayoquot sound”
· The Second Law of Demand is an empirical regularity observed for a long time. 
· Traditionally it is represented as:

· Better to think of it as:
· The Third Law of Demand is really a cute application of the first law of demand.

         -often called “Shipping the good apples out”

              or “The Alchian-Allen proposition” 
· The following comes from a letter to the editor of the Seattle Times 

Why are Washington apples in local markets so small and old-looking? The dried up stems might seem they were taken out of cold storage from some gathered last year. Redently, some apple-picking friends brought some apples they had just picked, and they were at least four times the size of hose available for sale here. Where do these big Delicious apples go? Are they shipped to Europe, to the East or can they be bought here in Seattle? 
· Suppose there are two qualities of apples:

    PH = 10 cents,  PL = 5 cents.

The relative price is 10/5 = 2
· Graphically we have:
· What happened to the price of an “average apple” to other goods?

· let the price of other goods (Py) equal 1.

· Then the relative price of apples to other goods goes from 7.5cents in Vancouver, to 17.5 cents in Toronto.
· Think of all the things this explains:

· The “Edmonds” 

· Vicki Gabero, Mexican coffee, and vacations

· Pear/Apples in little wrappers

· Expensive houses on hillsides

· Gold binding on hardcovers

· Meat in Alaska

· War on drugs

But why do we think you have to travel to Maine for a great lobster, Vancouver for a great Salmon, or Saskatoon for great pies?
